Uniswap Arbitrage Analysis
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def findArb(pairs, tokenIn, tokenOut, maxHops, currentPairs, path, circles):
for i in range(len(pairs)):
newPath = path.copy/()

pair = pairs[i]

if not pair['token0']['address'] == tokenIn[ 'address'] and not
pair[ 'tokenl']['address'] == tokenIn[ 'address']:
continue
if pair['reserve(']/pow (10, pair['token0']['decimal']) < 1 or
pair[ 'reservel']/pow(10, pair['tokenl']['decimal']) < 1:
continue
if tokenIn[ 'address'] == pair[ 'tokenO']['address']:

tempOut = pair[ 'tokenl']
else:

tempOut = pair[ 'token0']


https://www.reddit.com/r/ethereum/comments/55m04x/lets_run_onchain_decentralized_exchanges_the_way/

newPath.append(tempOut)

if tempOut[ 'address'] == tokenOut[ 'address'] and len(path) > 2:
c = { 'route': currentPairs, 'path': newPath }
circles.append(c)

elif maxHops > 1 and len(pairs) > 1:
pairsExcludingThisPair = pairs[:i] + pairs[i+l:]
circles = findArb(pairsExcludingThisPair, tempOut, tokenOut,

maxHops-1, currentPairs + [pair], newPath, circles)

return circles
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def findArb(pairs, tokenIn, tokenOut, maxHops, currentPairs, path, bestTrades,
count=5):
for i in range(len(pairs)):
newPath = path.copy()

pair = pairs[i]

if not pair['token0']['address'] == tokenIn[ 'address'] and not
pair[ 'tokenl']['address'] == tokenIn[ 'address']:
continue
if pair['reserve(']/pow (10, pair[ 'token0']['decimal']) < 1 or
pair[ 'reservel']/pow(10, pair['tokenl']['decimal']) < 1:
continue
if tokenIn[ 'address'] == pair[ 'tokenO']['address']:

tempOut = pair[ 'tokenl']
else:
tempOut = pair[ 'token0']
newPath.append (tempOut)
if tempOut[ 'address'] == tokenOut[ 'address'] and len(path) > 2:
Ea, Eb = getEaEb(tokenOut, currentPairs + [pair])
newTrade = { 'route': currentPairs + [pair], 'path': newPath,
'Ea': Ea, 'Eb': Eb }
if Ea and Eb and Ea < Eb:



newTrade[ 'optimalAmount'] = getOptimalAmount(Ea, Eb)
if newTrade[ 'optimalAmount'] > 0:

newTrade[ 'outputAmount'] =
getAmountOut (newTrade[ 'optimalAmount'], Ea, Eb)

newTrade[ 'profit'] = newTrade[ 'outputAmount']-
newTrade[ 'optimalAmount' ]

newTrade[ 'p'] =

int (newTrade[ 'profit'])/pow (10,
tokenOut|[ 'decimal'])

else:

continue

bestTrades = sortTrades(bestTrades, newTrade)

bestTrades.reverse()

bestTrades = bestTrades[:count]

elif maxHops > 1 and len(pairs) > 1:
pairsExcludingThisPair =

= pairs[:i] + pairs[i+1l:]
bestTrades =

findArb(pairsExcludingThisPair, tempOut, tokenOut,

maxHops-1, currentPairs + [pair], newPath, bestTrades, count)
return bestTrades
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» Swap 0.001837877803868271 Ether For 0.029600841309442325 @ TRB On  Uniswap

» Swap 0.029600841309442325 €@ TRB For 0.796430316556100961 DAl On & Uniswap

» Swap 0.796430316556100961 DAl For 0.346048644105336869 ) RPL On & Uniswap

» Swap 0.346048644105336869 ) RPL For 36.504804784313389539 ( » BUIDL On X Uniswap
» Swap 36.504804784313389539 ( BUIDL For 20.691932331434012957 @ OXT On & Uniswap
» Swap 20.691932331434012957 @) OXT For 0.018473813918786526 Ether On & Uniswap

» From dsm@assmesmsewsids . To Uniswap V2: TRB3  For 0.001837877803868271 ($0.65) & Wrapped Ethe... (WETH)
» From Uniswap V2: TRB3  To Uniswap V2: TRB-D... For 0.029600841309442325 ($0.69) @@ Tellor Tribu... (TRE)

» From Uniswap V2: TRB-D... To Uniswap V2: DAI-R... For 0.796430316556100961 ($0.80) Dai Stableco... (DAl)

» From Uniswap V2: DAI-R... To Uniswap V2: RPL-B... For 0.346048644105336869 ($0.74) ) Rocket Pool (RPL)

» From Uniswap V2: RPL-B... To Uniswap V2: OXT-B... For 36.504804784313389539 ($63.59) DFOHub (BUIDL)

» From Uniswap V2: OXT-B... To Uniswap V2: OXT2  For 20.691932331434012957 ($6.23) © Orchid (OXT)

» From Uniswap V2: OXT 2  To eweessseeemstwsts  For 0.018473813918786526 ($6.53) (S Wrapped Ethe... (WETH)
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Contact: ccyanxyz@gmail.com
Donation: 0x0af66d3641640755878F0d72A610FC2EEA856Cd6
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